
MATHS

BOOKS - MBD

INTEGERS

Example

1. Write opposites of the following,

Increase in weight

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wVWmVx11IESB


2. Write opposites of the following,

30 km north

Watch Video Solution

3. Write opposites of the following,

326 B.C

Watch Video Solution

https://dl.doubtnut.com/l/_wVWmVx11IESB
https://dl.doubtnut.com/l/_pm7qpUu7DvFH
https://dl.doubtnut.com/l/_FE6ELoAMCtzM


4. Write opposites of the following,

Loss ofRs.700

Watch Video Solution

5. Write opposites of the following,

100 m above sea level.

Watch Video Solution

https://dl.doubtnut.com/l/_QPd9Y5xekDyi
https://dl.doubtnut.com/l/_HCEa5h3NNA8J


6. Represent the following numbers as

intergers with appropriate signs.

An aeiroplane is flying at a height two

thousand metre abovve te ground.

Watch Video Solution

7. Represent the following numbers as

intergers with appropriate signs.

A submarine is moving at a depth,eight

hundred metre below the sea level.

https://dl.doubtnut.com/l/_6ZtuybORwqFa
https://dl.doubtnut.com/l/_D6SqCgOO2BBf


Watch Video Solution

8. Represent the following numbers as

intergers with appropriate signs.

A deposit of rupees two hundred.

Watch Video Solution

9. Represent the following numbers as

intergers with appropriate signs.

Withdrawal of rupees seven hundred.

Watch Video Solution

https://dl.doubtnut.com/l/_D6SqCgOO2BBf
https://dl.doubtnut.com/l/_DgHNBQF3oBW9
https://dl.doubtnut.com/l/_str460r1VjxS


10. Represent the following numbers on a

number line:

Watch Video Solution

+5

11. Represent the following numbers on a

number line:

Watch Video Solution

−10

https://dl.doubtnut.com/l/_str460r1VjxS
https://dl.doubtnut.com/l/_0YW5xOmR0ngc
https://dl.doubtnut.com/l/_QLafaP7VwJ55


12. Represent the following numbers on a

number line:

Watch Video Solution

+8

13. Represent the following numbers on a

number line:

Watch Video Solution

−1

https://dl.doubtnut.com/l/_QLafaP7VwJ55
https://dl.doubtnut.com/l/_rYWtGC0CNInm
https://dl.doubtnut.com/l/_RXunDGpsN7MP


14. Represent the following numbers on a

number line:

.

Watch Video Solution

−6

15. Adjacent is a vertical number

line,representing integers.Observe it and

locate the following points:

https://dl.doubtnut.com/l/_WI0oTv0k37Tn
https://dl.doubtnut.com/l/_vYW8ZeOFkn6S


If point D is +8,then which point is -8?


Watch Video Solution

16. Adjacent is a vertical number

line,representing integers.Observe it and

locate the following points:

Is point G a negative integer or a positive

https://dl.doubtnut.com/l/_vYW8ZeOFkn6S
https://dl.doubtnut.com/l/_uKYWva757dwe


integer?


Watch Video Solution

17. Adjacent is a vertical number

line,representing integers.Observe it and

locate the following points:

https://dl.doubtnut.com/l/_uKYWva757dwe
https://dl.doubtnut.com/l/_BAXhIlc0CzsC


Write integers for points B and E.


Watch Video Solution

18. Adjacent is a vertical number

line,representing integers.Observe it and

locate the following points:

Which point marked on this number line has

https://dl.doubtnut.com/l/_BAXhIlc0CzsC
https://dl.doubtnut.com/l/_GSLXLHhoavET


the least value?


Watch Video Solution

19. Adjacent is a vertical number

line,representing integers.Observe it and

locate the following points:

Arrange all the points in decreasing order of

https://dl.doubtnut.com/l/_GSLXLHhoavET
https://dl.doubtnut.com/l/_E10NkUjwC8Kr


value.


Watch Video Solution

20. Following is the list off temperatures of

five places in india,on a particular day of the

year.

Write the temperatures fo these places in the

https://dl.doubtnut.com/l/_E10NkUjwC8Kr
https://dl.doubtnut.com/l/_NfTHH2hTkQRn


form of integers in the blank column.


Watch Video Solution

21. Following is the list off temperatures of five

places in india,on a particular day of the year.

Following is the number line representing the

temperature in degree Celsius.Plot the name

https://dl.doubtnut.com/l/_NfTHH2hTkQRn
https://dl.doubtnut.com/l/_keQU7ZccXlhr


of the city against its temperature.


Watch Video Solution

22. Following is the list off temperatures of

five places in india,on a particular day of the

year.

Write the names of the places where

https://dl.doubtnut.com/l/_keQU7ZccXlhr
https://dl.doubtnut.com/l/_5P2pHnA8WutW


temperatures are above 10°C.


Watch Video Solution

23. Following is the list off temperatures of

five places in india,on a particular day of the

year.

https://dl.doubtnut.com/l/_5P2pHnA8WutW
https://dl.doubtnut.com/l/_rLYor4FnWDQY


Which is the coolest place?

Watch Video Solution

24. Following is the list off temperatures of

five places in india,on a particular day of the

year.

https://dl.doubtnut.com/l/_rLYor4FnWDQY
https://dl.doubtnut.com/l/_X90IvEqS3w87


Write the names of the places where

temperatures are above 10°C.


Watch Video Solution

25. In each of the following pairs,wich number

is to the right of the other on the number

line?

2,9

Watch Video Solution

https://dl.doubtnut.com/l/_X90IvEqS3w87
https://dl.doubtnut.com/l/_fge3hU1LJpv7


26. In each of the following pairs,wich number

is to the right of the other on the number

line?

Watch Video Solution

−3, − 9

27. In each of the following pairs,wich number

is to the right of the other on the number

https://dl.doubtnut.com/l/_fge3hU1LJpv7
https://dl.doubtnut.com/l/_ptTKUN9oWhA8
https://dl.doubtnut.com/l/_n2lUv79npp1z


line?

Watch Video Solution

0, − 1

28. In each of the following pairs,wich number

is to the right of the other on the number

line?

Watch Video Solution

−11, 10

https://dl.doubtnut.com/l/_n2lUv79npp1z
https://dl.doubtnut.com/l/_WYarWMffJK62


29. In each of the following pairs,wich number

is to the right of the other on the number

line?

Watch Video Solution

−6, 6

30. In each of the following pairs,wich number

is to the right of the other on the number

line?

.1, − 100

https://dl.doubtnut.com/l/_qen5ZpydLJ0S
https://dl.doubtnut.com/l/_1QxUoc1xOHxo


Watch Video Solution

31. Write all the integers between the given

pairs (write them in the increasing order.)

.

Watch Video Solution

0 and − 7

32. Write all the integers between the given

pairs (write them in the increasing order.)

.

Watch Video Solution

−4 and 4

https://dl.doubtnut.com/l/_1QxUoc1xOHxo
https://dl.doubtnut.com/l/_8rc51hH9oRUl
https://dl.doubtnut.com/l/_2JdCzDZygPbY


33. Write all the integers between the given

pairs (write them in the increasing order.)

Watch Video Solution

−8 and − 15

34. Write all the integers between the given

pairs (write them in the increasing order.)

.

Watch Video Solution

−30 and − 23

https://dl.doubtnut.com/l/_2JdCzDZygPbY
https://dl.doubtnut.com/l/_DIrwMPrnqUHh
https://dl.doubtnut.com/l/_jCt4CnYF8N22


35. Write four negative integers greater than

-20.

Watch Video Solution

36. Write four negative integers less than -10.

Watch Video Solution

https://dl.doubtnut.com/l/_jCt4CnYF8N22
https://dl.doubtnut.com/l/_ec6ICrVQkJa9
https://dl.doubtnut.com/l/_CUIMCYU5Y6yt


37. For the following statements write True(T)

r False(F).If the statement is false,correct the

statement.

-8 is to the right of -10 on a number line.

Watch Video Solution

38. For the following statements write True(T)

r False(F).If the statement is false,correct the

statement.

`-100 is to the right of -50 on a number line.

https://dl.doubtnut.com/l/_9TO1uYZ1pcTe
https://dl.doubtnut.com/l/_AVT1QQH2B3T8


Watch Video Solution

39. For the following statements write True(T)

r False(F).If the statement is false,correct the

statement.

Smallest negative integer is -1.

Watch Video Solution

40. For the following statements write True(T)

r False(F).If the statement is false,correct the

https://dl.doubtnut.com/l/_AVT1QQH2B3T8
https://dl.doubtnut.com/l/_XIrQC9udweUX
https://dl.doubtnut.com/l/_YFThLHE9oP41


statement.

 is larger than .

Watch Video Solution

−26 −25

41. Draw a number line and answer the

following:

Which number will we reach if we move 4

numbers to the right of .

Watch Video Solution

−2

https://dl.doubtnut.com/l/_YFThLHE9oP41
https://dl.doubtnut.com/l/_0a3sAbnHGuJi


42. Draw a number line and answer the

following:

Which number will we reach ifwe move 5

numbers to the left of 1.

Watch Video Solution

43. Draw a number line and answer the

following:

If we are at -8 on the number line,in which

direction should we move to reach -13?

https://dl.doubtnut.com/l/_lhTixPvtrCLx
https://dl.doubtnut.com/l/_98DautQ7eRJR


Watch Video Solution

44. Draw a number line and answer the

following:

If we are at  on the number line,in which

direction should we move to reach ?

Watch Video Solution

−6

−1

45. Find the solution of the following

additions using a number line.

( − 2) + 6

https://dl.doubtnut.com/l/_98DautQ7eRJR
https://dl.doubtnut.com/l/_w3ryf9eNTxaN
https://dl.doubtnut.com/l/_LHSmhXiZAdZb


Watch Video Solution

46. Find the solution of the following

additions without using a number line.

.

Watch Video Solution

( − 6) + 2

47. Find the solution of the following without

using number line:

( + 7) + ( − 11)

https://dl.doubtnut.com/l/_LHSmhXiZAdZb
https://dl.doubtnut.com/l/_aRFkikQJArdD
https://dl.doubtnut.com/l/_jkkZFAn8c2FE


Watch Video Solution

48. Find the solution of the following without

using number line:

Watch Video Solution

( − 13) + ( + 10)

49. Find the solution of the following without

using number line:

Watch Video Solution

( − 7) + ( + 9)

https://dl.doubtnut.com/l/_jkkZFAn8c2FE
https://dl.doubtnut.com/l/_tQxbJGvutta8
https://dl.doubtnut.com/l/_oDceFHjkIaI1


50. Find the solution of the following without

using number line:

.

Watch Video Solution

( + 10) + ( − 5)

51. Using the number line write the ineger

which is :

3 more than 5

Watch Video Solution

https://dl.doubtnut.com/l/_oDceFHjkIaI1
https://dl.doubtnut.com/l/_Q4pbTrR8mdOb
https://dl.doubtnut.com/l/_SlIVlRuYobKT


52. Using the number line write the ineger

which is :

5 more than -5

Watch Video Solution

53. Using the number line write the ineger

which is :

6 less than 2

Watch Video Solution

https://dl.doubtnut.com/l/_SlIVlRuYobKT
https://dl.doubtnut.com/l/_g3FfRC3Y79Iv
https://dl.doubtnut.com/l/_UwcxBcAwxUI6


54. Using the number line write the ineger

which is :

3 less than -2.

Watch Video Solution

55. Without Using number line add following

integers:

Watch Video Solution

9 + ( − 6)

https://dl.doubtnut.com/l/_UwcxBcAwxUI6
https://dl.doubtnut.com/l/_9oeE7R6ALqME
https://dl.doubtnut.com/l/_jgNrA8swhgKC


56. Use numbe line and add following inetgers:

5 +(-11)

Watch Video Solution

57. Use numbe line and add following inetgers:

Watch Video Solution

( − 1) + ( − 7)

https://dl.doubtnut.com/l/_C7vHG8crKPtK
https://dl.doubtnut.com/l/_ep4a1AEb9Tql


58. Use numbe line and add following inetgers:

Watch Video Solution

( − 5) + 10

59. Without using number line and add

following integers:

Watch Video Solution

( − 1) + ( − 2) + ( − 3)

https://dl.doubtnut.com/l/_n5WGjTAvj74V
https://dl.doubtnut.com/l/_LdektwDWexd6


60. Without using number line add following

integers:

.

Watch Video Solution

( − 2) + 8 + ( − 4)

61. Add without using number line:

11+(-7)

Watch Video Solution

https://dl.doubtnut.com/l/_PAT0Uu3P4oTM
https://dl.doubtnut.com/l/_4dO2oXobhbaB


62. Add without using number line:

Watch Video Solution

( − 13) + ( + 18)

63. Add without using number line:

Watch Video Solution

( − 10) + ( + 19)

https://dl.doubtnut.com/l/_o7OnazFW0ySH
https://dl.doubtnut.com/l/_qQ3rVWfflQYp


64. Add without using number line:

Watch Video Solution

( − 250) + ( + 150)

65. Add without using number line:

Watch Video Solution

( − 380) + ( − 270)

https://dl.doubtnut.com/l/_73LHxoLjakbs
https://dl.doubtnut.com/l/_3D1dVCayHngz


66. Add without using number line:

.

Watch Video Solution

( − 217) + ( − 100)

67. Find the sum of :

`137 and -345

Watch Video Solution

https://dl.doubtnut.com/l/_uj6KcCvarxMA
https://dl.doubtnut.com/l/_8THcLctjnhWN


68. Find the sum of :

Watch Video Solution

−52 and 52

69. Find the sum of :

.

Watch Video Solution

−312, 39 and 192

https://dl.doubtnut.com/l/_A0gOVGE13kUs
https://dl.doubtnut.com/l/_duNVXKJ14uEO


70. Find the sum of :

.

Watch Video Solution

−50, − 200 and 300

71. Find the value of :

(-7) + (-9)+4+16

Watch Video Solution

https://dl.doubtnut.com/l/_mUSF3k7pn3z9
https://dl.doubtnut.com/l/_iBCaTzyMXAdQ


72. Find the value of :

(37)+(-2)+(-65)+(-8).

Watch Video Solution

73. Subtract:

Watch Video Solution

35 − (20)

https://dl.doubtnut.com/l/_NFa2Bb1HDWYg
https://dl.doubtnut.com/l/_ldqj1QiKBayE


74. Subtract:

Watch Video Solution

72 − (90)

75. Subtract:

Watch Video Solution

( − 15) − ( − 18)

https://dl.doubtnut.com/l/_IceHalYf9e4p
https://dl.doubtnut.com/l/_bN09M3GYuUKU


76. Subtract:

Watch Video Solution

( − 20) − ( − 13)

77. Subtract:

Watch Video Solution

23 − ( − 12)

https://dl.doubtnut.com/l/_jX9yTbCp0bMe
https://dl.doubtnut.com/l/_ofFshKZOYonV


78. Subtract:

.

Watch Video Solution

( − 32) − ( − 40)

79. Fill in the blanks with >,< or = sign:

Watch Video Solution

( − 3) + ( − 6) _ ( − 3) − ( − 6)

https://dl.doubtnut.com/l/_pWXL5if6QQuA
https://dl.doubtnut.com/l/_ldJ6bk1bGb63


80. Fill in the blanks with >,< or = sign:

Watch Video Solution

( − 21) − ( − 10) _ ( − 31) + ( − 11)

81. Fill in the blanks with >,< or = sign:

Watch Video Solution

45 − ( − 11) _ 57 + ( − 4)

https://dl.doubtnut.com/l/_bF2DBCiwNYfX
https://dl.doubtnut.com/l/_AMZmR1yD8Qly


82. Fill in the blanks with >,< or = sign:

.

Watch Video Solution

( − 25) − ( − 42) _ ( − 42) − ( − 25)

83. Fill in the blanks:

Watch Video Solution

( − 8) +_ _ = 0

https://dl.doubtnut.com/l/_3GMqxmJ41UUK
https://dl.doubtnut.com/l/_tWCfKBlvgxPT


84. Fill in the blanks:

Watch Video Solution

13 +_ = 0

85. Fill in the blanks:

Watch Video Solution

12 − ( − 12) =_ _

https://dl.doubtnut.com/l/_CBCTA5awN79Y
https://dl.doubtnut.com/l/_dxgZeinMgFCb


86. Fill in the blanks:

Watch Video Solution

( − 4) +_ __ = − 12

87. Find the value of:

Watch Video Solution

( − 7) − 8 − ( − 25)

https://dl.doubtnut.com/l/_6vSPWNp5Grm4
https://dl.doubtnut.com/l/_qEoGQu6cFBpd


88. Find the value of:

Watch Video Solution

( − 13) + 32 − 8 − 1

89. Find the value of:

Watch Video Solution

( − 7) + ( − 8) + ( − 90)

https://dl.doubtnut.com/l/_3pFNuJCRGFL4
https://dl.doubtnut.com/l/_xfDk5CWJedVn


Exercise

90. Find the value of:

.

Watch Video Solution

50 − ( − 40) − ( − 2)

1. Fill in the blanks with symbol  or  :


Watch Video Solution

< >

−5.......... . − 8

https://dl.doubtnut.com/l/_iBN83EPA8UXB
https://dl.doubtnut.com/l/_zJcGZKWQiIon
https://dl.doubtnut.com/l/_fq11mrOCfLdM


2. Fill in the blanks with symbol  or  :


Watch Video Solution

< >

0............. . − 4

3. Fill in the blanks with symbol  or  :


Watch Video Solution

< >

6....... . − 4

https://dl.doubtnut.com/l/_fq11mrOCfLdM
https://dl.doubtnut.com/l/_JI19zjo2HrNL


4. Fill in the blanks with symbol  or  :


Watch Video Solution

< >

−10................ .8

5. Fill in the blanks with symbol  or  :


Watch Video Solution

< >

−8..................0

https://dl.doubtnut.com/l/_nMXUMBQOKRvW
https://dl.doubtnut.com/l/_2NwXWOGG9VSR


6. Fill in the blanks with symbol  or  :


8............-5`.

Watch Video Solution

< >

7. Which of the following statements are true?

The smallest integer is one.

Watch Video Solution

https://dl.doubtnut.com/l/_bm5oBFSqDhyX
https://dl.doubtnut.com/l/_kv9DYALqK7Bo


8. Which of the following statements are true?

The opposite of zero is .

Watch Video Solution

−1

9. Which of the following statements are true?

 is greater than -35.

Watch Video Solution

−38

https://dl.doubtnut.com/l/_UTxizeabe6vw
https://dl.doubtnut.com/l/_dG8b1IubVbFS


10. Which of the following statements are

true?

A negative integer is greater than its opposite.

Watch Video Solution

11. Which of the following statements are

true?

the absolute value of an integer is always

equal of an integer is always equal to the

integer.

https://dl.doubtnut.com/l/_qru24fDccjwF
https://dl.doubtnut.com/l/_v0n2VKg6B7gp


Watch Video Solution

12. Give the oppositesof :

Going North

Watch Video Solution

13. Give the oppositesof :

Rise in water level.

Watch Video Solution

https://dl.doubtnut.com/l/_v0n2VKg6B7gp
https://dl.doubtnut.com/l/_mQNauL0Px9hP
https://dl.doubtnut.com/l/_zkQ2f2ziopq7
https://dl.doubtnut.com/l/_w9hU2nOypzOL


14. Give the oppositesof :

Temperature below zero.

Watch Video Solution

15. Give the oppositesof :

Height above sea level.

Watch Video Solution

16. Give the oppositesof :

−8

https://dl.doubtnut.com/l/_w9hU2nOypzOL
https://dl.doubtnut.com/l/_3wOd1a17wGXc
https://dl.doubtnut.com/l/_UCWztI3StHR8


Watch Video Solution

17. Give the oppositesof :

.

Watch Video Solution

20

18. Use integers to express the following 

 above zero

Watch Video Solution

5∘

https://dl.doubtnut.com/l/_UCWztI3StHR8
https://dl.doubtnut.com/l/_gxyksCBOFgpz
https://dl.doubtnut.com/l/_oYhPAs7JEdNB
https://dl.doubtnut.com/l/_Y99QnIhKxF0B


19. Use integers to express the following 

 below zero

Watch Video Solution

45∘

20. Use integers to express the following 

A withdrawal ofRs.55 from an account.

Watch Video Solution

https://dl.doubtnut.com/l/_Y99QnIhKxF0B
https://dl.doubtnut.com/l/_PLHcsqvk0mZj


21. Use integers to express the following 

A deposit of Rs.500 in a account.

Watch Video Solution

22. Use integers to express the following 

Shimla is 7000 m above sea level.

Watch Video Solution

https://dl.doubtnut.com/l/_mSW7ABhvnXpW
https://dl.doubtnut.com/l/_zq4CC3ODHjIT


23. Use integers to express the following 

My school is 4 km South from my house.

Watch Video Solution

24. Which number in each of the following

pairs is to the right of the other on the

number line?

4,9

Watch Video Solution

https://dl.doubtnut.com/l/_rsHzy8MUnHlA
https://dl.doubtnut.com/l/_le4z4D9Q2OdO
https://dl.doubtnut.com/l/_M4K6jkiz9EdT


25. Which number in each of the following

pairs is to the right of the other on the

number line?<

Watch Video Solution

−3, − 37

26. Which number in each of the following

pairs is to the right of the other on the

number line?<

Watch Video Solution

0, − 5

https://dl.doubtnut.com/l/_M4K6jkiz9EdT
https://dl.doubtnut.com/l/_82H97yoZmp5g
https://dl.doubtnut.com/l/_v5pijiljMfr6


27. Which number in each of the following

pairs is to the right of the other on the

number line?< .

Watch Video Solution

−6, 7

28. Which number in each of the following

pairs is smaller ?

Watch Video Solution

−27, − 37

https://dl.doubtnut.com/l/_v5pijiljMfr6
https://dl.doubtnut.com/l/_6Bqo2dEQPwLU


29. Which number in each of the following

pairs is smaller ?

Watch Video Solution

−48, − 40

30. Which number in each of the following

pairs is smaller ?

Watch Video Solution

140, − 130

https://dl.doubtnut.com/l/_oLNsBO1e9Rna
https://dl.doubtnut.com/l/_cu2AAkOFpF2y
https://dl.doubtnut.com/l/_545feTSIKU7t


31. Which number in each of the following

pairs is smaller ?

.

Watch Video Solution

−150, − 140

32. Which number in each of the following

pairs is smaller ?

Watch Video Solution

0, − 9

https://dl.doubtnut.com/l/_545feTSIKU7t
https://dl.doubtnut.com/l/_etDbrN7eCNC6
https://dl.doubtnut.com/l/_TCTevoZH9qrd


33. Which number in each of the following

pairs is smaller ?

.

Watch Video Solution

210, − 405

34. Write all integers between:

Watch Video Solution

−5 and 3

https://dl.doubtnut.com/l/_TCTevoZH9qrd
https://dl.doubtnut.com/l/_OBbDjVV5qTf9


35. Write all integers between:

Watch Video Solution

0 and 6

36. Write all integers between:

.

Watch Video Solution

−3 and 3

https://dl.doubtnut.com/l/_eG0J9NVv1v7l
https://dl.doubtnut.com/l/_smFJbkeG4N1t


37. Write the abolute value of each of the

following:

Watch Video Solution

−37

38. Write the abolute value of each of the

following:

36

Watch Video Solution

https://dl.doubtnut.com/l/_0bhekFlhuu8g
https://dl.doubtnut.com/l/_CS69gXP8wxIo
https://dl.doubtnut.com/l/_n94weysV9iQw


39. Write the abolute value of each of the

following:

Watch Video Solution

0

40. Write the abolute value of each of the

following:

Watch Video Solution

108

https://dl.doubtnut.com/l/_n94weysV9iQw
https://dl.doubtnut.com/l/_hEDIhCzbRkGn
https://dl.doubtnut.com/l/_VCHiMDmHO2hV


41. Write the abolute value of each of the

following:

Watch Video Solution

−385

42. Write the abolute value of each of the

following:

.

Watch Video Solution

−3045

https://dl.doubtnut.com/l/_VCHiMDmHO2hV
https://dl.doubtnut.com/l/_GiK16Vn4Yd0y


43. Draw a number line and represent each of

the following on it:

9+(-6)

Watch Video Solution

44. Draw a number line and represent each of

the following on it:

(-3)+7

Watch Video Solution

https://dl.doubtnut.com/l/_VRUZ4i9J5Mev
https://dl.doubtnut.com/l/_MkltnU8T52ES
https://dl.doubtnut.com/l/_yy2wojoHfxi4


45. Draw a number line and represent each of

the following on it:

8+(-8)

Watch Video Solution

46. Draw a number line and represent each of

the following on it:

3+(-2)+(-4)

Watch Video Solution

https://dl.doubtnut.com/l/_yy2wojoHfxi4
https://dl.doubtnut.com/l/_TQPdaTjdoFse
https://dl.doubtnut.com/l/_www43bqi6uan


47. Draw a number line and represent each of

the following on it:

(-1)+(-2)+(-3)

Watch Video Solution

48. Draw a number line and represent each of

the following on it:

5 +(-2)+(-6).

Watch Video Solution

https://dl.doubtnut.com/l/_www43bqi6uan
https://dl.doubtnut.com/l/_OvkgPH95aCFu


49. Add the integers in each of the following:

-365,-87.

Watch Video Solution

50. Add the integers in each of the following:

Watch Video Solution

1001, − 13

https://dl.doubtnut.com/l/_w96h8jDTIv6z
https://dl.doubtnut.com/l/_s7Q6uc6zD8On


51. Add the integers in each of the following:

Watch Video Solution

−3057, 199

52. Add the integers in each of the following:

Watch Video Solution

−36, + 1027

https://dl.doubtnut.com/l/_QUHQoEET9iaB
https://dl.doubtnut.com/l/_sMqyY4vdSdn0


53. Add the integers in each of the following:

Watch Video Solution

389, − 1032

54. Add the integers in each of the following:

Watch Video Solution

312, 39, 192

https://dl.doubtnut.com/l/_8k8KKP0klE8y
https://dl.doubtnut.com/l/_Gc7HCx3nhclj


55. Add the integers in each of the following:

Watch Video Solution

−51, − 203, 36, − 28

56. Add the integers in each of the following:

Watch Video Solution

3002, − 888

https://dl.doubtnut.com/l/_Qj1RNXS6lR5w
https://dl.doubtnut.com/l/_nlehIwoKgZoe


57. Add the integers in each of the following:

.

Watch Video Solution

−18, 25, − 37

58. Find the sum:

.

Watch Video Solution

( − 7) + ( − 9) + 4 + ( − 10)

https://dl.doubtnut.com/l/_ZbNjHdsKmCu1
https://dl.doubtnut.com/l/_Pjnfx3540bng


59. Find the sum:

Watch Video Solution

37 + ( − 23) + ( − 65) + ( − 8)

60. Find the sum:

.

Watch Video Solution

( − 7) + ( − 9) + 4 + ( − 10)

https://dl.doubtnut.com/l/_0yhoAUO5gIKU
https://dl.doubtnut.com/l/_jLTnKkgtU5tx


61. Find the sum:

.

Watch Video Solution

1056 + ( − 798) + ( − 38) + 56

62. Let us invent an operation * for integers

such that fortwo integers a and b.

a * b = a+b+(-2a)

Determine(-4)*5

Watch Video Solution

https://dl.doubtnut.com/l/_en9XyiF4wx0l
https://dl.doubtnut.com/l/_d7yUQQnydZUy
https://dl.doubtnut.com/l/_tyYl6wqppbye


63. Let us invent an operation * for integers

such that fortwo integers a and b.

a * b = a+b+(-2a)

Determine(-4)*5

Watch Video Solution

64. Which of the following statements are

true?

Zero is a negative integer.

Watch Video Solution

https://dl.doubtnut.com/l/_tyYl6wqppbye
https://dl.doubtnut.com/l/_B2EL9P31Ksz9


65. Which of the following statements are

true?

Watch Video Solution

0 + 0 = 0

66. Which of the following statements are

true?

`0 is the smallest integer.

Watch Video Solution

https://dl.doubtnut.com/l/_8GrHW3eIWzMI
https://dl.doubtnut.com/l/_ctKdV2Sm99nY
https://dl.doubtnut.com/l/_cTTOj2HxgpXJ


67. Which of the following statements are

true?

The successor - 61 is -62.

Watch Video Solution

68. Which of the following statements are

true?

The sum of three different integers is always

zero.

Watch Video Solution

https://dl.doubtnut.com/l/_cTTOj2HxgpXJ
https://dl.doubtnut.com/l/_WKJ4Pj4jZUAu


69. Which of the following statements are

true?

The predecessor of -200 is -201.

Watch Video Solution

70. Fill in the blanks:

.

Watch Video Solution

−9 + ...... = 0

https://dl.doubtnut.com/l/_H2njHTEjcHdS
https://dl.doubtnut.com/l/_u6JNiCv2Mhue


71. Fill in the blanks:

Watch Video Solution

28 + .... . = 0

72. Fill in the blanks:

Watch Video Solution

16 + 9 − (16) = ............. .

https://dl.doubtnut.com/l/_oRWtcjvXoN71
https://dl.doubtnut.com/l/_t8XjbKUHHTFB


73. Fill in the blanks:

Watch Video Solution

−264 + .... . = − 364

74. Fill in the blanks:

Watch Video Solution

−9 + ...... = − 17

https://dl.doubtnut.com/l/_41sCAq27jU7b
https://dl.doubtnut.com/l/_3Ojegpa7qL2Z


75. Fill in the blanks:

.

Watch Video Solution

....... . + 315 = − 74

76. Which of the following statements are true

?

`-14>-8-(-17)

Watch Video Solution

https://dl.doubtnut.com/l/_YVH8lxaSmMDf
https://dl.doubtnut.com/l/_qozpMWIa5sFr


77. Which of the following statements are true

?

.

Watch Video Solution

−5 − ( − 2) ≻ 8

78. The sum of two integers is always an

integer.

Watch Video Solution

https://dl.doubtnut.com/l/_kzDzVGCp755V
https://dl.doubtnut.com/l/_NXpGU8aKEJVm


79. The difference of two integers jis always an

integer.

Watch Video Solution

80. Subtract the first integer from the second

in each of the following:

18,-34

Watch Video Solution

https://dl.doubtnut.com/l/_DXKviojnvVLS
https://dl.doubtnut.com/l/_4vWAjhRbiCA3


81. Subtract the first integer from the second

in each of the following:

.

Watch Video Solution

−15, 25

82. Subtract the first integer from the second

in each of the following:

Watch Video Solution

28, − 42

https://dl.doubtnut.com/l/_YZLTvCQewePc
https://dl.doubtnut.com/l/_p57tITCXgZDN
https://dl.doubtnut.com/l/_nQm2eUwpK6uW


83. Subtract the first integer from the second

in each of the following:

Watch Video Solution

+68, − 37

84. Subtract the first integer from the second

in each of the following:

Watch Video Solution

219, 0

https://dl.doubtnut.com/l/_nQm2eUwpK6uW
https://dl.doubtnut.com/l/_eN03AHS2yzU6
https://dl.doubtnut.com/l/_kxqdZ3CO3kSK


85. Subtract the first integer from the second

in each of the following:

Watch Video Solution

−92, 0

86. Subtract the first integer from the second

in each of the following:

Watch Video Solution

−135, − 250

https://dl.doubtnut.com/l/_kxqdZ3CO3kSK
https://dl.doubtnut.com/l/_zyijsoFUEkgh


87. Subtract the first integer from the second

in each of the following:

Watch Video Solution

−2768, − 287

88. Subtract the first integer from the second

in each of the following:

Watch Video Solution

62400, − 271

https://dl.doubtnut.com/l/_Z4DCchn4cZwC
https://dl.doubtnut.com/l/_pvR52Ga56jWq
https://dl.doubtnut.com/l/_xhIMtD4DARAn


89. Subtract the first integer from the second

in each of the following:

.

Watch Video Solution

−3012, 6250

90. Subtract -3 from 8 and 8 from -3 . Are the

two results the same ?

Watch Video Solution

https://dl.doubtnut.com/l/_xhIMtD4DARAn
https://dl.doubtnut.com/l/_2NLGoy7N2Lfc


91. Find the value of -12 +(-98)-(-84)-(7).

Watch Video Solution

92. p and q are two inegers such that p is the

successor of q.Find the value of p-q.

Watch Video Solution

93. Find the value of :

−19 − ( − 16)

https://dl.doubtnut.com/l/_UwqUO3aoaED4
https://dl.doubtnut.com/l/_Ly8eRZG8zTA3
https://dl.doubtnut.com/l/_NT5Ia2jYV5mm


Watch Video Solution

94. Find the value of :

Watch Video Solution

−6 − 3 − ( − 18)

95. Find the value of :

Watch Video Solution

(3 − 5) + (3 − 5)

https://dl.doubtnut.com/l/_NT5Ia2jYV5mm
https://dl.doubtnut.com/l/_q9XR4eEc9NCp
https://dl.doubtnut.com/l/_6YspsPf0W4DA
https://dl.doubtnut.com/l/_PDch9ysGX4YE


96. Find the value of :

Watch Video Solution

−17 + 36 − 18 − 1

97. Find the value of :

Watch Video Solution

60 + ( − 58) − ( − 4)

https://dl.doubtnut.com/l/_PDch9ysGX4YE
https://dl.doubtnut.com/l/_8y1H7JSfbRrg


98. Find the value of :

.

Watch Video Solution

−5 + ( − 6) + ( − 80)

99. The sum of two inegers is -337.If one of

them is 250,find the other.

Watch Video Solution

https://dl.doubtnut.com/l/_zmfnqlubrsXe
https://dl.doubtnut.com/l/_uq8gIxwEBbGW


100. The usm of two inegers is -639,if one of

them is 529 ,find the other.

Watch Video Solution

101. Find the difference of the sum of odd

numbers and sum of even numbers between

10 adn 20.

Watch Video Solution

https://dl.doubtnut.com/l/_yzrkm9AlM4cN
https://dl.doubtnut.com/l/_LeCYtwx9bTcL


102. Subtract the sum of -8 and -28 from the

sum of -13 and 31.

Watch Video Solution

103. In Mohan's house,there are stairs for

going down to the godown.Let us consider the

numberof stairs going up to the terrace as

positive integer,the number of stairs going

down to the godown as negative integer and

he ndumber repreenting ground level as

https://dl.doubtnut.com/l/_byYxiQTbOqsp
https://dl.doubtnut.com/l/_zuc32HhfmKG9


zero.If Mohan godown 5 steps from the

ground floor and then move up 12 steps from

there,then where he will reach.Wirte down the

answer as integer.

A. 

B. 7

C. 

D. 

Answer:

Watch Video Solution

−2

−7

−1

https://dl.doubtnut.com/l/_zuc32HhfmKG9


104. What is the number of integers between

-4 and 1

A. 3

B. 4

C. 5

D. 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zuc32HhfmKG9
https://dl.doubtnut.com/l/_dIbkSuei5z78
https://dl.doubtnut.com/l/_O0skr97HnSfy


105. What is the number of integers between

-8 and -2?

A. 3

B. 4

C. 5

D. 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_O0skr97HnSfy
https://dl.doubtnut.com/l/_qhgTFxAXNsjt


106. Which is the largest integers among

-7,-6,-5,-4 and -3?

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

−6

−5

−4

−3

https://dl.doubtnut.com/l/_qhgTFxAXNsjt


107. Which is the smallest integer among -3,-2

,0 and 1?

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

−3

−2

0

1

https://dl.doubtnut.com/l/_uBE5HeJGgvVF
https://dl.doubtnut.com/l/_l30GQsV7GAca


108. Find the value of :

(-7) + (-9)+4+16

A. 36

B. 22

C. 4

D. 27

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_l30GQsV7GAca


109. the sum of

 is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 9) + ( + 4) + ( − 6) + ( + 3)

−8

8

14

22

https://dl.doubtnut.com/l/_HsesCpcWqPDT
https://dl.doubtnut.com/l/_SrbXBd8ySN95


110. The successor of -5 is ................ .

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

−5

5

−4

−6

https://dl.doubtnut.com/l/_SrbXBd8ySN95

